
https://www.leads4pass.com/jn0-321.html
2024 Latest leads4pass JN0-321 PDF and VCE dumps Download

 

 

 

JN0-321Q&As

DX, Associate(JNCIA-DX)

Pass Juniper JN0-321 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/jn0-321.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

 

 

JN0-321 PDF Dumps | JN0-321 VCE Dumps | JN0-321 Practice Test                                1 / 3

https://www.leads4pass.com/jn0-321.html
https://www.leads4pass.com/jn0-321.html
https://www.leads4pass.com/jn0-321.html


https://www.leads4pass.com/jn0-321.html
2024 Latest leads4pass JN0-321 PDF and VCE dumps Download

QUESTION 1

Which two are initial configuration steps using the console? (Choose two.) 

A. Enable HTTPS for WebUI access. 

B. Agree to the license. 

C. Configure fullyqualified domain name. 

D. Configure console port parameters. 

E. default persistency 

Correct Answer: B 

 

QUESTION 2

What are three purposes of a PSNP? 

A. to tear down an adjacency 

B. to ensure a neighbor is still in the Up state 

C. to maintain the link state database sync. 

D. To request a copy of a missing LSP on a broadcast network 

E. To acknowledge LSPs from a neighbor on a point to point network 

Correct Answer: CDE 

 

QUESTION 3

Your administrator wants to centralize logs from the DX appliance and Cluster. Which two protocols are available to
export those logs? (Choose two.) 

A. SMTP 

B. syslog 

C. SCP 

D. TFTP 

Correct Answer: BC 

 

QUESTION 4
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What are two valid Cluster load balancing methods? (Choose two.) 

A. fewest outstanding requests 

B. urlhash 

C. least connections 

D. backup chaining 

Correct Answer: AB 

 

QUESTION 5

Which two types of nodes are included in an MPLS explicit route? 

A. peer 

B. strict 

C. loose 

D. system 

Correct Answer: BC 
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